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SF05F11 01 HUK)|[£F#105F11 A02HCK) [ £#1055F 11 B03H(E) | £F1055F11 H04B ()| £F105511 H058(H)| $#1055%11 A06 H(A)|[ £#1055F11 A07H ()
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&bt (RIPEEXY eacA TEMZ (FL B fHiFEHE (EZ) H O EREDEY) fHiFEbHE A EEFDZ
EWE R OY e N OB I FONAFIDD A [ONV=1)=F 3 B DV {mA
HAIRITE NOBRHRT HOLE Z NI ZF
TXVE — 1644kcal |23 F = 1569k cal |3 F = 1619kcal |3 F = 1557kcal |3 F = 1652k cal |23 F — 1646kcal |23 F — 1612kcal
EHE 60.9¢ |2 FI'E 54.1g|EEHE 50.6g |2 F'E 58.2¢ | & 63.1g|E EHE 47.5¢|EEHE 56.7g
AN 661mg [NV T A 44Tmg |V T AL 451mg | IVY T A 407mg [NV T AL 525mg |y A 552me [y h 458mg
&k Smg [#k 9. 1mg|&k 6.5me|Ek 5.8mg|&k 6.2mg|Ek 5.7mg|#k 7.4mg
B hmTy 7676 u g| BIETY 4357 u g| BTV 5742 u g| BTV 2501 u g| B BTV 3197 u g| BIETV 4947 u g| B BTV AT78 n g
t43VB1 0.83mg|t#3VB1 0.66mg |t 43VB1 0.54mg |t 43VB1 0.59mg|E#3VB1 0.56mg|E43VB1 0.53mg|E43VB1 0.61mg
£43B2 1.2mg|E#3V/B2 Img|E#3V/B2 0.9mg|E43VB2 0.9mg|E43VB2 0.88mg|E#3VB2 0.86mg|E#3VB2 1.02mg
E43C 106mg[E43C 90mg[E%#3C 98mg[E 43 C 48mg B4 C 51mg B4 C 168mg[E43/C 70mg
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3 3 3 3 3 3 3
S0 (L%) S0 (HEL%) S0 (DY=F) S0 (E1F) ST EDY) ST (ET)
ENERNEZE e KAl (65) KAl (65) [ Ea B KA (65) KA (65) Iy
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AL (ZAIZR) (o Rk b 4 (L2 TV EEYTAD I DA (ML IS 4 | LIk
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TRVF — 1632kcal[=q1% = 1610kcal [=f1% = 1552kcal [ZqF = 1594kcal [Zq0 % = 1575kcal [ZfF = 1652kcal [=q1F = 1572kcal
EHE 45 1| AE 65.3¢|& AE 58.1g |k HE h2g |k FHE 62g |4 FI'E 55.7¢|EE A 54.4g
AN 391mg |y A 415mg | IVY T AL 516mg| Iy yh 608mg [NV T A 444mg |V T AL 491 mg |y A 415mg
&k 6.2mg|Ek 8.9mg|&k 8.4mg|&k 9.6mg|&k 7.4mg |8k 6.6mg|&k 14.9mg
B huzy 2778 u g| B BTV 2988 11 g| B BTV 4302 1 g| B BTV 3330 1 g| B ATV 5070 1 g| B BTV 3721 u g| B ATV 21251 g
L'4#3Bl1 0.66mg|E#3VB1 0.71mg|E#3VB1 0.6mg|E43VB1 0.69mg|E#3VB1 0.67mg|E#3VB1 0.76mg|E43VB1 0.47mg
b43/B2 0.78mg|[E#3VB2 1.02mg|E43/B2 0.81mg[E#3VB2 0.83mg[E#3VB2 0.83mg[E#3VB2 0.97mg[E#3VB2 0.76mg
v43,C 101mg[E43C 80mg |43 C 84mg[E 43 C 25mg|E 43 C 59mg|E 43 C 10lmg[E43C 55mg
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TRVE — 1565kcal [ZfF = 1608kcal [ZqF = 1553kcal [ 2R F = 1555kcal [ZqF = 161 7kcal |2 F = 1624kcal [ZqF = 1602kcal
EHE 48g | H'E 49.8¢| B EHE 63.8¢ | FH'E 55.9g | H'E 56.1g |2 FH'E 56g |4 HE 46.6g
AN 506mg |y A 506mg |y A 480mg [NV T A 446mg [NV T A 372mg |y A 512meg [y mh 123mg
&k 5.4mg|8k 6.4mg|8k 8.8mg|&k Smg |8k 4.5mg |8k 7.9mg |8k 5.8mg
B huzy 2775 u g| BIETY 3588 1 g| B BTV 2818 1 g| B BTV 1814 u g B 7y 1924 u g| B 7y 3360 u g| B BTV 5127 u g
t43B1 0.59mg|E43VB1 0.52mg|E43VB1 0.49mg|E43VB1 0.9mg|E#3VB1 0.5mg|E#3VB1 0.65mg|E#3VB1 0.47mg
t43B2 0.87mg|E#3VB2 0.93mg|E#3VB2 0.95mg|E#3VB2 0.88mg|E#3V/B2 0.81mg|E#3V/B2 0.68mg|E#3VB2 0.51mg
t53C 125mg|E 430 C 41mg|E 43V C 72mg|E A3 C 60mg|E 43 C 97mg|E 43V C 48mg|E 43 C 45mg
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A (L) B ey £ I % (Fe) VN EEX D RODFIZ MO EX o RODFIZMIINAEDOES AT Z|EHE: £ (L Rp e
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TRVE — 156 7kcal [ZfF = 159 1kcal [ZqF = 157 1kcal 2% = 1643kcal [ 2 F = 1560kcal [ZfF = 1616kcal [ZfhF = 1583kcal
EHE 53.8g|EH'E 49.6g| B HE 51.5g|EEHE 51.1g|EEE 66.6g |2 & 56.8¢ |8 & 53.8g
AN 435mg [V 407mg [NV T A 454mg |V T AL 522mg |y A 435mg [ IVY T A 426mg |V A 338mg
&k 7.4mg |8k 8.2mg|&k 5.2mg |8k 4. Tmg |8k 6.7meg|Ek Img |8k 6.9mg
B har 4484 1 g| B BTV 3286 1 g| B BTV 4379 1 g| B BTV 3241 u g| B BTV 3654 1 g| B BTV 2242 1 g| BTV 3221 u g
t43B1 0.61mg|E43VB1 0.7mg|E#3VB1 0.72mg|E43VB1 0.66mg|E#3VB1 0.48mg|E#3VB1 0.52mg|E43VB1 0.69mg
t43B2 0.92mg|E4#3VB2 0.77mg|E#3VB2 0.76mg|E4#3V/B2 0.75mg|E#3VB2 0.95mg|E#3VB2 0.9mg|E#3VB2 0.71mg
t53C 45mg|E A3V C 89mg|E 43V C 41mg|E X3V C 60mg|E 43 C 40mg|E 43V C 80mg|E 43V C 52mg
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B 1582k cal [Tx)VF — 1572kcal |[TR)VF — kecal|Zp % — kecal|Zp % — kecal|Zp % — kecal|Zp % — kcal
EHE 53.3g |8 FI'E 55.1g| HE g|lEHE g|lEHE g|llEHE gllEHE g
BV 405mg |y A 341mg [y A mg |V h mg |V h mg |y h mg |y h mg
&k 8.3mg|&k 6.4mg|Ek mg [# mg [# mg [#k mg [# mg
B haTy 3809 1 g| BTV 1663 1 g| B AETY gl B ATy wglB ATy wgl BTy wgl BTy ug
b 43VB1 0.56mg |t 43VB1 0.56mg |t 43VB1 mg|b#3VB1 mg|b#3VB1 mg|b#3VB1 mg|b#3VB1 mg
v A3B2 0.77mg|E43B2 0.85mg[E43B2 mg|b#3/B2 mg|b#3/B2 mg|b#3/B2 mg|b#3/B2 mg
43/ C 55mg|E 43/ C 82mg|E 43 C mg|E 43 C mg|E 23 C mg |23 C mg |k 43V C mg




